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Multiplication Word Problems

4-Digit by 1-Digit: S3

SMagician Milton charges    2,450 per show. How much will he earn from 9 shows?3)

A toy-making factory made 3,570 teddy bears each in 7 di!erent colors. How many

teddy bears did they make in all?

2)

Our city has 5 arenas that seat 4,000 spectators each. How many people do the arenas

seat altogether?

4)

If a carton contains 1,500 lollipops, how many candies do 8 such cartons contain?5)

A cultivator sells 8 sacks of onions. If each sack contains 1,212 onions, how many onions

did the cultivator sell in all?

1)

There are 1,001 women in a town. The number of men there is 3 times more than

women. How many men are there?

6)
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